C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
-5-(7)? 1/ ] _4/ s
A.5-(7) 61 ( i) '
B. _5+(_7) A. /6+(/9)
C.-5-(-7) 1 4
D.5+(7) B.-75+ (+/9)
1, 4
C. 75- (/o)
D. ]/6 - (+4/9)
3) Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
3.11+ (-6.9)? -2.13+ (-7.3)?
A.3.11+ (6.9) A.-2.13-(7.3)
B.-3.11 + (+6.9) B.2.13 + (+7.3)
C.-3.11-(6.9) C.213-(-7.3)
D.3.11- (+6.9) D. 213+ (-7.3)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
7.6 - (+9.8)? 5+ (+9)?
A.7.6+(-9.8) A.-5-(-9)
B.-7.6-(9.8) B.-5-(9)
C.7.6+(+9.8) C.5-(9)
D.-7.6 + (+9.8) D.5+(9)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
45+ (-7.19)? 4/5 + (+4/5 5
A.-45-(7.19) A 4
B.45- (+7.19) A.-7s-(+/5)
C.-45-(+7.19) 4 4
D. -4.5 + (+7.19) B. 75+ (/s)
4, 4
C. 75-(/5)
4 4
D. /5-(-/5)
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Ch Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to 5
-5-(7)? 1, 4 1
" Vo (-/9)?
A.5-(7) L4
B.-5+(-7) A. 75+ (79 2 B
C.-5-(-7) 1 4
D.5+(7) B.-76+ (+/9) ; D
1, A4 :
C. 75- (/o)
D. 75 (+7) 4 A
5, A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
3.11 + (-6.9)? 213+ (-7.3)? 6. D
A.3.11+ (6.9) A.-2.13-(7.3)
B.-3.11 + (+6.9) B.2.13 + (+7.3) 7 B
C.-3.11- (6.9) C.2.13-(-7.3)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
7.6 - (+9.8)? 5+ (+9)?
A.7.6+(-9.8) A.-5-(-9)
B.-7.6-(9.8) B.-5-(9)
C.7.6+(+9.8) C.5-(9)
D.-7.6 + (+9.8) D. 5+ (9)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
4.5+ (-7.19)? 4/ N +4/5 5
A.-45-(7.19) .
B.4.5- (+7.19) A. / (+/5)
C.-45- (+7.19) 4 4
D. -4.5+ (+7.19) B. /5+(/5)
4, A4
C. /5-(/9)
4 4
D. /5-(-/5)
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
7, 2 3+ (-4)? 1
/g-(79)?
87 (/9 , A.3-(4)
A. Jg+ (+7) B.3+(4) 2.
7 2 C.-3+(+4)
B.-7-(-73) D. -3- (+4) ,
C.-7s- 7o)
7 2
D. /8 + (- /3) 4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
4.78 - (-9.15)? -8.8+ (-2.7)? 6.
A.-4.78 + (-9.15) A.-8.8- (+2.7)
B. 4.78 + (+9.15) B.8.8-(-2.7) 7
C. 4.78 - (9.15) C.88-(2.7)
D. -4.78 - (+9.15) D.8.8+ (+2.7) .
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6+ (+1)? -9.3 - (-8.86)?
A.6+ (1) A.9.3-(8.86)
B.-6-(+1) B.-9.3 + (+8.86)
C.-6- (1) C.9.3-(-8.86)
D.-6+(+1) D. 9.3- (+8.86)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-]/2 - (-]/6 ? 4/5 + (J/S ?
A7y (+7) INANYA
1 1 4 1
B. 7/, + (+7g) B.-/5+(-75)
C. -1/2 + (-1/6) C. 4/5 + +1/
D. -7y + (+7) D. Y- (-7
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Ch Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers

1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to D

Y- (72 3+ (47 "

] , A.3-(4)
A. Jg+ (+7) B.3+(4) 2. A
7 2 C.-3+(+4)

B.-7-(-73) D.-3- (+4) ; B

C.-7s- 7o)

D. 7+ (-7s) 4 A

5, A

3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to

4.78 - (-9.15)? 8.8+ (-2.7)? 6. B

A.-4.78 + (-9.15) A.-88- (+2.7)

B. 4.78 + (+9.15) B.8.8-(-2.7) . D

C. 4.78- (9.15) C.88-(2.7)

D. -4.78 - (+9.15) D. 8.8 + (+2.7) . C
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to

6+ (+1)? -9.3- (-8.86)?

A.6+(1) A.9.3-(8.86)

B.-6-(+1) B.-9.3 + (+8.86)

C.-6- (1) C.9.3- (-8.86)

D.-6+(+1) D. 9.3- (+8.86)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to

_1/2 - (_1/6)? 4/5 + (1/5)?

ATy (79 A Vs (+79

B. 7, + (+7) B. -7+ (-/)

C. 7+ (7 C. Vs+ (+7)

D. -7y + (+7) D. Y- (-7
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
7.7 + (+4.4)? -7.6 + (+2.65)? 1
A.-7.7 + (-4.4) A.7.6 + (2.65)
B.-7.7 + (+4.4) B. 7.6 - (+2.65) 2.
C.7.7+ (4.9 C.-7.6+ (-2.65)
D. 7.7 - (+4.4) D.-7.6 - (-2.65) 5
4,
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
2 3 4.7 + (6.7)? 6.
/10- (+76)?
© ( 6)3 A.-A7 +(-6.7)
A. -7y~ (-7 B.-4.7 - (6.7) 7.
2 3 C.4.7-(6.7)
B. 710~ (79) D. 47 - (-6.7) .
2 3 :
C. /10 + (+/6)
2 3
D. 710+ (76)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6+ (+2)? 8- (-4)?
A.6-(-2) A.-8-(-4)
B.-6+(-2) B.-8-(+4)
C.6+(-2) C.8+ (4)
D.-6+ (+2) D.8+(-4)
7)  Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3/9 4 (3/4 5 29+ (4.17)?
3 3 A.29-(-4.17)
A.-75- (79 B. 2.9+ (+4.17)
3 3 C.29+ (-4.17)
B.-7g- (+7) D. 29- (+4.17)
C. 3/9 + (+3/4)
3, 3
D.-75-(74)
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C:# Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
7.7+ (+4.4)2 7.6+ (+2.65)? 1 C
A.-7.7+ (-4.4) A.7.6+ (2.65)
B.-7.7 + (+4.4) B. 7.6 - (+2.65) 2 D
C. 7.7+ (4.4) C.-7.6 + (-2.65)
D. 7.7 - (+4.4) D.-7.6- (-2.65) N B
4, D
5, A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to c
2 3 4.7 + (6.7)? 6.
/10~ (+79)? 7
5 3 A.-4.7+ (-6.7)
A.-710- (75 B.-4.7- (6.7) 7 C
2 3 C.4.7-(6.7)
B. 710~ (79) D. 47 - (-6.7) AB
2 3 8. ’
C. /10 + (+/6)
2 3
D. 710+ (76)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
6+ (+2)? 8- (-4)?
A.6-(-2) A.-8- (-4)
B.-6+(-2) B.-8- (+4)
C.6+(2) C.8+(4)
D. -6+ (+2) D.8+(-4)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3/9 N (3/4 5 2.9+ (4.17)?
. g A.29-(-4.17)
A.-79-(-73) B. 2.9 + (+4.17)
3 3 C.29+ (-4.17)
B.-/g- (+7) D. 2.9- (+4.17)
C. 3/9 + (+3/4)
3, 3
D.-75-(74)
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
4.2 + (+7.82)? 2.1- (+3.4)? L
A. 4.2+ (7.82) A.-2.1+(-3.4)
B.-4.2 + (-7.82) B.2.1+ (-3.4) 2
C.-4.2+ (+7.82) C.2.1+ (+3.4)
D.-4.2 - (+7.82) D.-2.1- (+3.4) 5
4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
-4+ (-7)? 9+ (2)? 6.
A. 4+ (-7) A.-9-(2)
B.4+(7) B.9-(-2) .
C.-4-(-7) C.-9- (+2)
D. -4 - (7) D.-9-(-2) .
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
2 5 3 1
Ty (73 /- (-73)?
ATy (+5/7> A.Tg+ (+7)
2 3, 1
B.-/,- (+7 ) B. 7y- (/3)
2 5 3 1
C/4 (/7) C.-/g-(+/3)
2 5 3 1
D.-74+ (-77) D.75-(+73)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
1/3 ] (_3/4 ’ 45 - (+9.6)?
. . A. 4.5+ (9.6)
A.73-(+7)) B.-4.5- (-9.6)
1, 3 C.-45+(-9.6)
B. /3+ (7)) D. 45- (9.6)
A (+3/4)
1, 3
D. 73- (74
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C:# Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
4.2+ (+7.82)? 2.1- (+3.4)? 1 A
A. 4.2+ (7.82) A.-2.1+(-3.4)
B.-4.2 + (-7.82) B. 2.1+ (-3.4) 2 B
C.-4.2+ (+7.82) C.2.1+ (+3.4)
D.-4.2 - (+7.82) D.-2.1- (+3.4) N D
4 B
5, A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
4+ (-7)? 9+ (2)? 6. A
A. 4+ (-7) A.-9-(2)
B.4+(7) B.9-(-2) 7 B
C.-4-(-7) C.-9- (+2)
D.-4-(7) D.-9-(-2) . C
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
2 5 3 1
4= (/72 /9 (-7/3)?
A.Ty+ (+7y) A.Tg+ (+7)
2 5 3, 1
B.-7/,-(+7) B. 7y- (/3)
2 5 3 1
C. /4-(-/7) C.-/g-(+/3)
2 5 3 1
D.-74+ (-77) D.75-(+73)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
1 3 -4.5 - (+9.6)?
/3-(-74)?
31( 4)3 A. 45+ (9.6)
A.73-(+7)) B.-4.5- (-9.6)
1, 3 C.-45 + (-9.6)
B. /3+ (7)) D. 4.5- (9.6)
A (+3/4)
1, 3
D. 73- (74

1-8 |88|75|63]|50]38]25[13] 0 |
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
9+ (6)? -4.42 + (-1.16)? 1
A.9-(-6) A.4.42 + (+1.16)
B. 9+ (+6) B. 4.42 - (+1.16) 2
C.-9-(6) C.-4.42 + (+1.16)
D.-9- (+6) D. -4.42 - (+1.16) 5
4,
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
-7 - (+1)? 1.57 - (+9.14)? 6.
A.7-(-1) A. 157 - (-9.14)
B.7-(1) B.-1.57 - (-9.14) 7
C.-7-() C. 157 +(-9.14)
D. -7 + (+1) D. -1.57 - (+9.14) .
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
25-(-7.3)? _9/ N +2/ s
A.25-(7.3) 1‘; ( 72'
B.-25- (+7.3) A.-710- (+72)
C.25+(-7.3) 9 2
D. 2.5+ (7.3) B. 710- (/7)
9 2
C.-710-(-77)
9 2
D. /10~ (-77)
7)  Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-4-(1)? -2.98 - (-5.4)?
A.4-(+1) A.-2.98 - (+5.4)
B.4-(-1) B.2.98 - (-5.4)
C.-4+ (+1) C.-2.98- (5.4)
D.-4-(+1) D. -2.98 + (+5.4)
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C:# Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
9+ (6)? 442 + (-1.16)? 1 AB
A.9-(-6) A.4.42 + (+1.16)
B. 9+ (+6) B. 4.42 - (+1.16) 2 D
C.-9-(6) C.-4.42 + (+1.16)
D. -9 - (+6) D. -4.42 - (+1.16) N C
a4, C
5 D
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
7- (+1)? 157 - (+9.14)? 6. C
A.7-(-1) A. 157 - (-9.14)
B.7-(1) B.-1.57 - (-9.14) 7 D
C.-7-(1) C. 1.57 +(-9.14)
D. -7 + (+1) D. -1.57 - (+9.14) . D
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
25-(-7.3)? Y o
A.25-(7.3) 1‘; ( 72'
B.-25- (+7.3) A.-710- (+77)
C.25+(-7.3) 9, 2
D. 2.5+ (7.3) B. 710- (/7)
9 2
C.-710-(-77)
9 2
D. /10~ (-77)
7)  Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-4-(1)? -2.98 - (-5.4)?
A.4-(+1) A.-2.98 - (+5.4)
B.4-(-1) B.2.98 - (-5.4)
C.-4+(+1) C.-2.98- (5.4)
D.-4-(+1) D. -2.98 + (+5.4)

1-8 |88|75|63]|50]38]25[13] 0 |
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
N ANYAY -3.5+ (+5.7)? 1
g . A.-35-(5.7)
A7+ (+ 5) B.-35- (-5.7) 2.
5 C.35-(-5.7)
B.-/y+ (+7s) D.35- (5.7) ,
C.-7y+ (/)
D. 7, - (7 4
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
4, 4 3-(-1)? 6.
/g-(-/5)?
84( 54 A.3+(+1)
4 4 C.-3+(-1)
B.-/g+(-/5) D.-3-(-1) o
4 4 :
C.-/3-(-75)
D. 4/8 - (+4/5)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
5 5 -2-(-1)?
Sa-(-7=)?
8- (/9" A.2-(1)
A. / +(+/8) B.2- (+1)
5 C.2+(0)
B.-/g+ (-/) D. -2+ (+1)
C. '5/8 +(+ /8)
5 5
D. 7- (+7g)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
5, 1 3-(-1)?
/e - (+72)?
65 ( 3)1 A.3+(-1)
A. 7+ (+73) B.-3+ (+1)
5 1 C.3+(+1)
/5- (+7/3) D.-3-(1)
C. 76+
D. -5/6 + (-]/3)
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Ch Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
5 1 -3.5+ (+5.7)? C
/7-(+75)?
. ) A.-35-(5.7)
A7+ (+ 5) B.-3.5-(-5.7) B
C.35-(-5.7)
B. 5/7 + (+ 5) D.3.5-(5.7) A
C. 5/7 + (- 1/5)
D. 7, - (7 A
C
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
4y A 3-(-1)? D
- (e
4 4 A.3+(+1)
C.-3+(-1)
B. -4/8+ (- 4/5) D.-3-(-1) C
C. 4/8 (- 4/5)
D. %, 8" (+4/5)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
Y- T 207
85 8 - A.2-(1)
A. 7g+ (+7y) B.2-(+1)
C.2+(1)
B. 75+ (-/p) D. -2+ (+1)
C. '5/8 + (+5/8)
D. 75~ (+7p)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
5 1 3-(-1)?
/s~ (+7)"
65 t 3): A.3+(-1)
A. 7+ (+73) B.-3+ (+1)
C. 3+ (+1)
5/6 - (+1/3) D.-3- (1)
C. 76+
D. -5/6 + (-]/3)
[ Math ] 6 1-8 [88]75]63[50]38][25[13] 0 |
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
4, 2 4.11 - (-6.97)? 1
-7g-(797? (-6.97)
. , A. 411+ (+6.97)
A.-7g-(+73) B. 4.11 - (+6.97) 2.
4 2 C.-4.11-(6.97)
B.-/g+(+73) D. -4.11 + (+6.97) 5
C. 75+ (-2/3)
4 2
D. /3-(-73) 4
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
9 1 7 4 6.
/10- (7)? /10- (-79)?
9 1 7 4
A. 710+ (7)) A 710+ (/) 7.
9 1 7 4
B. 710~ (-72) B. /10- (+/7)
9 1 7 4 8.
C.-710+ (+75) C. /10- (/7
9 1 7 4
D.-710- (72) D.-/10+(-/7)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
-9 - (+5)? 8-(9)?
A.-9-(5) A.8+(-9)
B.9+ (5) B.8-(-9)
C.9-(-5) C.8+(9)
D.9- (5) D. -8 - (+9)
7)  Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
2-(N? 8.63- (-5.2)?
A. 2+ (+7) A.-8.63- (-5.2)
B.2- (+7) B.8.63- (+5.2)
C.2-(-7) C.8.63+ (5.2
D.-2- (+7) D. -8.63 + (-5.2)
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C:# Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
Y 2o 4.11-(-6.97)? 1 A
-/g-(/3)"
. , A. 411+ (+6.97)
A Tg- (+75) B. 4.11 - (+6.97) 2 A
4 2 C.-4.11-(6.97)
B.-/g+(+73) D. -4.11 + (+6.97) 5 A
C. 75+ (-2/3)
0. %% . A
5, A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to A
9 1 7 4 6.
/10~ (72)? /10--77)?
9 1 7 4
9 1 7 4
B. 710~ (-72) B. 710~ (+/7) C
9 1 7 4 8
C.-710+ (+75) C. /10- (/7
9 1 7 4
D.-710- (72) D.-/10+(-/7)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
-9- (+5)? 8- (9)?
A.-9-(5) A.8+(-9)
B.9+ (5) B.8- (-9)
C.9-(-5) C.8+(9)
D.9- (5) D.-8- (+9)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
2-(7)? 8.63 - (-5.2)?
A.2+(+7) A.-8.63- (-5.2)
B.2- (+7) B. 8.63 - (+5.2)
C.2-(-7) C.8.63+(5.2)
D.-2- (+7) D. -8.63 + (-5.2)
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
'3/7 - (+2/3)? 1/4 + ('2/3)'? -
I/ ANA A7, (+79) 2
B. 7+ (%) B.7,- (73
3, 2 1, 2 8.
C.-77-(-73 C.-74- (73
3 2 1 2
D.77-(-73) D. /4 + (+73) 4.
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
8.56 - (-9.6)? 2.6 - (+5.9)? 6.
A. -8.56 + (+9.6) A. 2.6+ (+5.9)
B.-8.56 - (+9.6) B.-2.6- (5.9) .
C. 8.56 + (-9.6) C.2.6-(-5.9)
D. 8.56 + (+9.6) D.-2.6-(-5.9) .
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
2/5 + (6/9 ? 3/9 + (+5/6)?
A. 2/5 + (+6/9) A. 3/9 A
2 6 3 5
B. 75- (+/9) B.-79- (-7¢)
C. -2/5 + (+6 9) C. -3/9 + (-5/6)
2 6 3 5
D.-75-(-/9) D. 75+ (/p)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-7-(4)? 1-(+7)?
A. 7+ (+4) A.-1-(-7)
B.7+(-4) B.1-(-7)
C.7- (+4) C.1+(-7)
D. -7+ (-4) D.-1-(7)
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Ch Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to A
'3/7 - (+2/3)? 1/4 + ('2/3)'?
I/ ANA A7y (+7) AB
B. 7+ (%) B.7,- (73 5
C. ‘3/7 - ('2/3) C.7)- (2/3)
D.7,- (79 D. 7, +(+75) B
A
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
8.56 - (-9.6)? -2.6- (+5.9)? D
A. -8.56 + (+9.6) A. 2.6+ (+5.9)
B. -8.56 - (+9.6) B.-2.6-(5.9) D
C. 8.56 + (-9.6) C.2.6-(-5.9)
D. 8.56 + (+9.6) D.-2.6- (-5.9) C
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
2/5 + (6/9 ? 3/9 + (+5/6)?
A. 2/5 + (+6/9) A. 3/9 A
B. 2/5 - (+6 9) B. -3/9 - (-5/6)
C. -2/5 + (+6 9) C. -3/9 + (-5/6)
2 6 3 5
D.-75-(-/9) D. 75+ (/p)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-7-(4)? 1-(+7)?
A. 7+ (+4) A.-1-(-7)
B. 7+ (-4) B.1-(-7)
C.7- (+4) C.1+(-7)
D. -7+ (-4) D.-1-(7)
[ Math ] 3 1-8 [88]75[63[50[38]25[13] 0 |
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
Yr (T2 N ’
. X A.-5+ (+8)
A.-7g- (-7 B.-5-(8) 2,
. 5 C.-5+(-8)
B. /g+ (7)) D.5+(-8) 3
C.-/g+ (+2/4) |
D. 75~ (7)) 4
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
6-(-3)? Y& 6.
A. -6+ (-3) 81 ( 9)('3
B.-6-(3) A.-Tg+(+7/g) 7.
C.6+ (3) 1 6
D. 6+ (+3) B.-/5- (79 )
C. 1/8 + (+6/9) '
D. -]/8 - (+6/9)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
-1.3- (-5.11)? -7+ (-9)?
A.13-(-5.11) A.7+(9)
B.-1.3 + (+5.11) B.-7-(-9)
C.-1.3- (+5.11) C.-7-(+9)
D. 1.3- (+5.11) D.7-(-9)
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
-8/10 - (]/5 ? ]/2 - (+]/2 ?
8 1 1 1
A. 710+ (+75) A.-75-(-7)
B. 710+ (+74) B. 75~ (/)
8 1 1, 1
C. 710+ (75) C.-7/5- (/)
8 1 1 1
D.-/10- (+75) D. 75-(-72)

1-8 |88|75|63]|50]38]25[13] 0 |
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Ch Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem.
1) Which expression(s) are equivalent to

7/8 + (-2/4 ?

A. '7/8 - (-2/4)

7, 2

B. /g +(7y)

C.-/g+ (+2/4)

D. 75~ (7))

3) Which expression(s) are equivalent to
6-(-3)?
A.-6+(-3)
B.-6- (3)
C.6+(3)
D. 6+ (+3)

5) Which expression(s) are equivalent to
-1.3-(-5.11)?
A.13-(-5.11)
B.-1.3+ (+5.11)
C.-1.3-(+5.11)
D.1.3- (+5.11)

7) Which expression(s) are equivalent to
Tho- (792
A. 8/10 +(+7)
B. -8/10 + (+1/5)
C. 8/10 +(7)
D. '8/10 - (+1/5)

2) Which expression(s) are equivalent to
5-(-8)?
A. -5+ (+8)
B.-5- (8)
C.-5+(-8)
D.5+(-8)

4)  Which expression(s) are equivalent to
'1/8 + (-6/9)'?
A. -1/8 + (+6/9)
B. /- (6/9)
C. 1/8 + (+6/9)
D. '1/8 - (+6/9)

6) Which expression(s) are equivalent to
-7+ (-9)?
A.7+(9)
B.-7-(-9)
C.-7-(+9)
D.7-(-9)

8) Which expression(s) are equivalent to

1/2 - (+1/2)?

Answers

D

A

C,D

B,D

B

[ M ath ] www.CommonCoreSheets.com 9
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C:# Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
9+ (-8)? 8/9 ] (+1/2)? 1
A.9-(+8) 8 L
B.-9-(-8) A.7y-(7) 2.
C.-9-(+8) 8 1
D.-9-(8) B.-/- (-7) .
8, 1 :
C.-/4-(72)
8 1
D.-/g+(-7%) 4,
5.
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
4 S 1.3+ (-7.6)? 6.
Ve (Loy (-7.6)
. ; A.13-(+7.6)
A.-75+(+75) B.-1.3-(-7.6) 7.
4 5 C.1.3+(7.6)
B. /5+(/7) D. 1.3+ (+7.6) o
C. T+ (-7 |
D. -4/5 - (+5/7)
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
_6/9 ] (3/5 ’ 1.1-(-7.3)?
3 , A.-11+(-7.3)
A.-7g+ (+75) B.1.1-(+7.3)
6, 3 C.11+(7.3)
B. 79-(-75) D.1.1+(-7.3)
c. %+ (Yo
D. 7o+ (-7
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3-(8)? 3.2-(-2.97)?
A.3+(-8) A.3.2+(+2.97)
B.-3-(8) B.3.2- (+2.97)
C.-3+(-8) C.-32+(-2.97)
D. 3-(-8) D. 3.2+ (2.97)
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Ch Finding Equivalent Expression with Negative Numbers Name:  Answer Key

Solve each problem. Answers
1) Which expression(s) are equivalent to 2) Which expression(s) are equivalent to A
AR 8/9 - (+1/2)? '
A.9-(+8) 8 L
B.-9-(-8) A. 7y~ (/) 2. A
C.-9-(+8) 8 1
D.-9-(8) B.-/- (-7) A
C.-/4-(72)
D. Vg + (-7y) 4 A
5, D
3) Which expression(s) are equivalent to 4)  Which expression(s) are equivalent to
Y 5 1.3+ (-7.6)? 6. C
-/5-(-/7)"
. A.13-(+7.6)
A -7+ (+ /7) B.-13-(-7.6) 7. A
4 C.13+ (76)
B. /5 + (/7) D.13+ (+76) A D
4 8 ]
C.-/s+(- /
D. 4/5 (+/ )
5) Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
_6/9 ] (3/5 5 1.1- (-7.3)?
3 5 A.-1.1+(-7.3)
A.-7g+ (+75) B.1.1-(+7.3)
6, 3 C.11+ (7.3
B. 79-(-75) D.1.1+(-7.3)
c. %+ (Yo
D. 7o+ (-7
7) Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
3-(8)? 3.2 - (-2.97)?
A.3+(-8) A.3.2+(+2.97)
B.-3-(8) B.3.2- (+2.97)
C.-3+(-8) C.-3.2+(-2.97)
D.3-(-8) D. 3.2+ (2.97)

1-8 |88|75|63]|50]38]25[13] 0 |
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